CBSE Class 12 Geography Compartment Question Paper 2020 (September 23, Set 3- 64/C/3)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(111)
(1v)

(v)

(vr)

This question paper comprises three Sections — A, B and C.
There are 30 questions in the question paper. All questions are compulsory.

Section A — Question nos. 1 to 18 are multiple choice questions (MCQs)
carrying 1 mark each. Write only the correct answer in your answer sheet.

Section B — Question nos. 19 to 22 are short answer type questions carrying
3 marks each. Answer to them should not exceed 80 — 100 words each.

Section C — Question nos. 23 to 28 are long answer type questions carrying
5 marks each. Answer to them should not exceed 150 words each.

Question numbers 29 to 30 are MAP questions related to identification and
locating and labelling of geographical features respectively, carrying 5 marks
each.

The outline map of India and World provided to you must be attached within

your answer sheet.

(vit) Answers should be brief and to the point and the above word limit be adhered

(viii)

to as far as possible.

There 1s no overall choice in the question paper. However, an internal choice
has been provided in 3 questions of one mark, 1 question of three marks,
4 questions of five marks and map question. You have to attempt Only one of
the choices in such questions.

(ix) However, separate instructions are given with each section and question,
wherever necessary.
(x) Use of templateor stencils for drawing outline maps is allowed.
SECTION A
1. Which one of the following refers to actual growth of population ? 1
(A) Change of population 1n a particular area between two points of
time
(B)  Population increases by difference between births and deaths
(C) Population increases by the difference of births and deaths plus
in-migration minus out-migration
(D) Increase in population by births plus in-migration
2. Which one of the following is a tertiary activity ? 1
(A) Farming
(B) Fishing
(C) Mining
(D) Teaching
64/A/3 B R P.T.0.
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frAfeiga o § SH-H Fuehl @ i fommar g 2 1
(A) I8 @9 I Ga9 OTA IR ged Tl f9fe 8 |

(B) WS €dd o fehe 91T SATd 3 |

(C) THehTet U WIHSI o IREE 9aet i, GOT gRI Bial & |

(D)  Y&ITcHsh YAl U 39kl T @ Y&Thd HH BIdT 3 |

T TS SRR (W.U.21.) & TR & § Afgensd W SAfehdr o6
fafafiea o @ S9-91 7T R 8 2 1
(A)  I8Y TTHIOT &A1 | T& ol Wl <d &

(B) Y&l 1 gHY <¥I1 H JaITH Al

(C) &l (s=at) 1 e o @

(D) faemet YT & GATER 1 A9 33 o foru Afgenett s awfio &&= o
TR &1 &l FA-qIATE

TAd: TAT-TA T AT I o AH H 0 9 | Toh (aendd TR foehe &

4 giafad &l siar 8138 H=feiiad 9m1 | © si9-a1 9 fean S 2 2 1
(A) ~ TRaTRl

(B) © HM T4l

(C) Wi {2

(D) E9R

fafafea @ oo a3 Uy faem sriswn g Rl T/ o =

T g7 B ? 1
(A) MY 91U, TR1eq1, 18 9 T Al Sl TEgH

(B) oIl IUINT AT Aehicdsh Yiaad dFf ohl 3qd a1

(C) TfgaATsTi ht Terd Harsli dh Jgd H gUR

(D) &SI o ToTU ATE™ | JrefHehdl

fAefetiagd O § SIH-5 T hl AT THT 787 & 2 1
(A)  IfeTer R e agrAT hi TUTA!

(B)  TUSHIR <l Al

(C) 9oy IAIATCHb (TG ) Jard

(D)  Adad Helsiel YuTTe!
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3. Which one of the following 1s a feature of ‘Shaft Mining’ ? 1
(A) It isthe easiest and cheapest way of mining.
(B)  Minerals occur close to the surtace.

(C) Extracted minerals are transported to the surface through tunnels.

(D)  Cost of satety precautions and equipment 1s relatively low.

4, Which one of the following 1s a main cause for the excess of females in
urban areas of United States of America (USA) ? 1

(A)  Males prefer to live in rural areas
(B)  Out-migration of males to other countries

(C) Low birth rate of male child

(D) Influx of females from rural to urban areas to avail vast job
opportunities

d. Which one of the following names 1s given to a large area of urban
development that resulted from the merging of originally separate towns
or cities ? 1

(A)  Megalopolis
(B) © Mega City
©) Million<City
(D) Conurbation

6. Which one of the following 1s not a part of urban strategy as outlined by
UNDP ? 1

(A)  Provision of basic services, education, sanitation and clean water
(B) Upgrading energy use and alternative transport system
(C) Improving women’s access to basic services

(D)  Preference for male in-migration

7. Which one of the following 1s not a social problem faced by the towns ? i
(A)  Non-availability of educational and health facilities
(B) Lack of employment
(C) Male selective migration

(D) Improper sewage system
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8. Tamfcigd 4 & -4 “wra k1 g gan fifd’ 1 wad fog 787 8 ? I
(A) U & H EgHTH
(B) I 9T o CIical bl dgd il
(C) HATEeATAT IR TSRl ol T T
(D) 9oY 3cHdi™d

9. 2011 hl SHUAT o IR YR o FWHAfigd Tl 4 9 fopgd Fdehtor

Oay HH =X 8 ? 1
(A) QTS

(B) Temmeet wew

(C) oK

(D) 3H9H

10. Toh" HehR <hl UTHIU STEql, ToTd & HGH R TSEAH o H© WF H %

®Y H T3 STl & ? 1
(A Tead SheE
(B)  IY-[fesd dieadl
(C) UGl Si&T
(D) uitfers sfeai
AT
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0 1

(A)  Tesd el
(B) 3T9[(esd Afeadl

(C) gl afeqat
(D) ufttery afeqar
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8. Which one of the following is not a ‘thrust point’ of ‘National Youth Policy
of India’ ? 1

(A)  Participation in decision-making
(B) Carrying the responsibility of an able leader
(C) Empowering women and girls

(D) Male out-migration

0. Which one of the following States has the lowest level of urbanisation in

India as per 2011 census ? 1
(A) Jharkhand

(B) Himachal Pradesh

(C) Bihar

(D) . Assam

10. Which type of rural settlements are largely found in Gujarat plains and

in some parts of Rajasthan ? 1
(A)  Clustered settlements

(B)  Semi-clustered settlements

(C) Hamleted settlements

(D)  Dispersed settlements

OR

Which type of rural settlements are largely found in Middle and Lower
(Ganga plains ? 1
(A)  Clustered settlements

(B)  Semi-clustered settlements

(C) Hamleted settlements
(D)  Dispersed settlements
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11. =igd ¥ 9 $H-91 YRd § 96 §81 TR 9%d @ ? 1
(A) It
(B) 98¢ H1g
(C) Teg
(D) =%
12. GER o fopg 91T H Shad 3T gg° N bl T o €9 H SAHT SA1AT 3 2 1
(A)  SI9M % Bihel el
(B) HET 3R
(C) WRA o IA-Yal T
(D) Y& SUSHIRET
13. THAfiRad Sfeqdi o Jidedl § 9 hid-H1 GSohl o b TaehlEd aidr & ? 1

(A)  3TIATRR Tided
(B) J1=3ATHR Uided
(C) ' dR o IATRR HI Jidey

(D)  IESH Y&y
14. TAfaRea saen & ° 9 Sia-91 sy U9 J g 8 2 1
(A)  hITET
(B) THINS
(C)  def=l
(D) Hdel
3T
Td § efafga oo °§ & iH-91 Siage’ &1 998 dg1 3cd1esh U9 3 2 1
(A) HEWIY
(B) USEIM
(C) 3nfesm
(D) Y T
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11. Which one of the following is the largest ‘Urban Agglomeration’ in India ? 1
(A) Kolkata
(B)  Greater Mumbai
(C)  Delhi
(D) Chennai
12. In which part of the world 1s ‘slash and burn’ agriculture known as
‘Jhuming’ ? 1
(A) Hokkaido region of Japan
(B) Central America
(C) North-Eastern States of India
(D) Eastern Indonesia
13. Which one of the following patterns of settlements develops on either side
of a road ? 1
(A) Rectangular pattern
(B) =~ T-shaped pattern
(C) = Star-shaped pattern
(D) Linear pattern
14. Which one of the following coal fields are located in Odisha State ? 1
(A) Korba
(B) Raniganj
(C) Talcher
(D) Neyveli
OR
Which one of the following States 1s the largest producer of ‘Bauxite’ in
India ? 1
(A) Maharashtra
(B) Rajasthan
(C)  Odisha
(D) Andhra Pradesh
64/A/3 R P.T.0.
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15. THIRGd | d hIH-91 375 g9 hl HRUT & ? 1
(A) S YguUI
(B)  dTg 9c¥UI
(C) 9 SIgNU
(D) =& Ty
16. H= & e # I vl § A 3R BF e v Mo Al La Lo
W H % Ry
A | B
! !
S[E ¥ faarer IS H AT
17. TfIiad § & qd-ufead T o Al 1 o ©3[ &H-4 38 ? 1
(A) T8 3 hicrehTdl
(B) /' 9uUl 3R TETRIL!
(C) ' THe=t 3R IRa
(D) gL, He=r
37T
fAefciiad d 9 H-81 ITR-Ef& e 1 g I foeg 3 2 1
A) gt
(B) <ENE
(C) M
(D) @
18. T=idigd Rl & € fohaeh SR HihUl {&d i AR T Teh TS0
FHchT HET STAT & 2 1

(A) I8 760 Tort Tra TomT 2 |
(B) I GUT bl I hidl & |
(C) I8 146 T 9 grAl, 2000 Il T 91 TN ol IR AT 7 |

(D) 9% HERIY, T A1 Hieeh i SAedl & |
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15. Which one of the following is the cause of acid rainfall ? 1
(A)  Water pollution
(B)  Air pollution
(C) Land pollution
(D)  Noise pollution

16. Complete the following table by writing the appropriate terms at

. I 1_
A and B : 5 + 5 =7
Cropping Seasons 1n India
A | B
June to September October to March

17. Which of the following are the terminal stations of the ‘East-West
Corridor’ ? 1

(A) © Mumbai and Kolkata
(B) © Pune and Guwahati
(C) “Silehar.and Porbandar

(D)  Surat and Shillong
OR
Which one of the following is the Northernmost point on the ‘North-South
Corridor’ ? 1
(A)  Delhi
(B) Chandigarh
(C)  Srinagar
(D) Leh

18. For which one of the following reasons, 1s Konkan Railway considered an
engineering marvel ? 1

(A) Iti1s 760 kms long.

(B) It passes through tunnels.

(C) It crosses 146 rivers or streams, 2000 bridges and 91 tunnels.
(D) It connects Maharashtra, Goa and Karnataka.
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19. T=faiga dfetert 1 GEgIdes FLIA hIfWT 3T 3G = fgU T J9411 o
I AT 1+1+1=3
TS BIGEIGH
TSI 866
TSTEA™ 77-2
e 9o 665
qENIg 650
TR I 58-21
RIFEERC I 57-6
IS 547
(19.1) 3 TST T W ARG I AR & 0w 99 IS &1 aiiees giaerd

39T LT 2 |
(19.2) TH=ms & U i ST o STITh IUANT 5 TS =T B 2
(19.3) YRd § fegyfdfeq So1 <hl gfd =afte Iqcteudt =1 9¢ @ 8 ? T8

CAS N
FIZ: ARG J97 Sdol FIRaTiaa qagntdar & 170 397 &1 19 & T T
g/
TR H ST 19T <hl ShHT o Teheal a9 ST ohl TIY shif9U | 1%3=3

20. “Ticl | Hifdeh R THAT TREeAT3T Sl 9UH, HFd IR TH-fI9H ° Jdienl
1 TN HId gU, ®Ih & &9 H A1 A1 8 |7 IGEW <R 36 HAT

SRS shild | %=
21. 9RA H Y-F=IRr i WS i el ShRehl Sl U HiTaT | 3
22, IIqUSIY AR Tohg TR <M1 b [IU BTHehReh &l Tehdl & ? SATEHT iU | 3
3T
AT MR H1 EA1 TP o fAU fohe yohR et e il 2 2
STEAT hiloTT | 3
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SECTION B
19. Study the following table carefully and answer the questions that
follow : 1+1+1=3
Percentage of net irrigated area to total by wells and tube-wells
State Percentage
Gujarat 86-6
Rajasthan 772
Madhya Pradesh 66-5
Maharashtra 65-0
Uttar Pradesh 58-21
West Bengal 57-6
Tamil Nadu 54-7

(19.1) Name the State that uses the highest percentage of groundwater
for irrigation.

(19.2) What would be the impact of excessive use of groundwater for
irrigation ?

(19.3)  Why'is the per capita availability of water declining day-by-day
in India ? Kxplain.

Note: The following question is for the Visually Impaired Candidates
only, in lieu of . No. 19.

Explain any three causes for the depletion of water resources in India. 1Ix3=3

20. “The physical and human phenomena in Geography are described in
metaphors using symbols from the human anatomy.” Explain the
statement giving examples. Ix3=3

21. Describe the factors that lead to land degradation in India. J

22. Explain how international trade can prove to be detrimental to the
nations. 3

OR
Explain how international trade 1s mutually beneficial to the nations. 3
64/A/3 13 P.T.0.
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23. “faermd’ wree ot uftwiivg hifcie | Mg 9™ & 1eE & fou fafag sarm
shl SITSIT hifoT | 1+4=5

24, ARG AR 1 FTEYHIYES T hioT R I9eh HId QT T I
I TAIET 1+1+3=5

60° W 70° 30° 90° 150° 70° 60° E

(24.1) 39 ITMM @ fhegl gl LIHI & 9 foifgu |
(24.2) I T A WUS[ b AW TIRGU S 36 TEHTT § IS B |

(24.3) TH IAHNT o 3Tk HE<d ohl T <hil9U |

FIZ: ARG 97 T FIRATIET qagnidar & 170 97 &1 24 & T T

g/
TER | 91y Ui @ Ayl 3T gl sl T8 i | 3+2=5
-64/A/3 14
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SECTION C

23. Define the term Development. Explain the various approaches to the
study of human development. 1+4=5

24. Study the following map carefully and answer the questions that

follow : 1+1+3=5
60° W 70° 3(° 90°  150° 70° 60° E

1"-. 1"'-_ rd —. e ’fﬁ. ™ : i ( "I ,—*“;‘:- : .r} |

\A RRC\T I Cg / /O & BA N ™ Ya—

| ' \ Bl b / l e

\-\ " E\‘ “ff | | Ne, @ "{;} ait fj /

UD T"H v x "-F_._f ,uf" H'. N . Gl \' ,1:
Pt 2 TR S &l Vs
e ‘-" < % gy N\ / -
: ./ Ya | }f ) g ek ‘
e .

< |50°
150°
(24.1) Name any two stations of this railway.
(24.2) Name the two water bodies that are connected by this railway.
(24.3) Examine the economic significance of this railway.
Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 24.
Explain the advantages and disadvantages of ‘Air Transport’, in the
world. 3+2=5
64/A/3. 15 P.T.O.
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25. AR T =@ WEifirehl 3TN hl &I faeivareti =l TE iy | Ix5=5
SOC

HHR H HV-3MLTNG LN shl G&F faRIdrsti sl €98 HINT | 1x5=5

26. YA H SMEEAT o ATH TTHh TIaqUl oh RO I [aTeTTUT ThITT | Ix5=5
SOC

“ORa |, I T & ° IEY YA 3T §; S(aich [l ol YarE ATH
4 yrefior & § =T B |7 T S 3 e i faveimur shifvy | 2é+2i=5

2

27. ‘fa@led Sid 3R RivAm" YW 1 R0 foh8 ThR WA H HiV IcdTgehd

! I hid 8 ? TIF shIfIT | 2-§-+2-§-=5
AU
YR H AT b §1¢ Y Tk & 1T 31UAT3 T3 WHITGAT shl ST HITT |
IX6=5
28. whiedl Hqgl Ut AR Bfecdn Gqgl qoq 6l g, I8 U, HIWR HAR HEd
Wﬁﬁwﬁgﬁﬁ cm\oﬂ | 1+242=5
SPE)
A b (deRil IR hi TaRITdrsTl shi AT iy | 1x5=5

29. WRA % ¢U 7Y TSHITdeh W-AEes (I8 21 W) | Heidiad 4 9 =l ara
YiTIfeTeh AN bl IUYTH Ta@l gRI ATehd hifelg 3T Ieh A9 TIRIT 5x1=5

(29.1) |G forehtd F=ehreh (HDI) H ¥a€ T4 T ITell TS

(29.2) HI%I hl YT IdTCh T
(29.3) Wdsl — dieT @M

(29.4) TS — UG 94T
(29.5) AATHT H GiFeaX Trenfiehl 9Teh

(29.6) Td-ufTE TR T TR R I

(29.7) USTE H =AY I
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25. Explain the main characteristics of ‘high-tech industry’ in the world. IX5=5
OR
Explain the main features of agro-based industries in the world. 1%5=5
26. Analyse the causes for the uneven spatial distribution of population in
India. Ix5=H
OR
“In India, male migration i1s higher from rural to urban areas while
female migration 1s higher from rural to rural areas.” Analyse the
statement by giving reasons. 2% +2~% =5
27. Explain how ‘fragmentation of landholdings’ and ‘degradation of
cultivable land’ atfect the agricultural productivity in India. 2 é +2 é =3
OR
Explain the strategies for agricultural development followed in India
after independence. IX6=5
28. Compare with examples, the hinterland, the cargo handled and
significance of Kandla seaport and Haldia seaport. 1+2+42=5
OR
Explain the characteristics of India’s foreign trade. Ixb=5
29. On the given political outline map of India (on page 21), locate and label
any five of the following geographical features with appropriate
symbols : dxl=bH
(29.1) The State with lowest level of Human Development Index (HDI)
(29.2) The leading coffee producing State
(29.3) Khetri — Copper mines
(29.4) Bhilai — Steel plant
(29.5) The Software Technology Park in Telangana
(29.6) The western terminal station of East-West corridor
(29.7) The international airport in Punjab
B4/A/3 R VA P.T.0.
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FIZ:  HEIRET 399 $ac FIBATIET Gt & o0 J97 697 29 & T W
g | Ieb=8] gier ¥9] & I [c71T :
(29.1) HFd I g=rehleh (HDI) H ¥a8 H T Tl T bl M TIRaU |
(29.2) THI%I b UM IcTTEH T I 410 T0IRIT |
(29.3) Wds! dlel @H Tohd T H Ed & ?
(29.4) foers ouTa T fopm U= o fedyg 2 2
(29.5) HTHT T e GiecaaX TIfehl 9Teh o1 A foiRkaT |
(29.6) Yd-ufvem AR o qfvadt R o ©yH 1 9™ faRau |

(29.7) USIE § A~qUT IRIUTH o1 A1 TTRaT | 5x1=5

30. WER % U T TSHildeh @I-AFRSA (I8 23 W), H 9= W A&I0l b
@, ®, ©, O q (B) @ fo@rn T g | 396! 9gaH (Tfdaiad S bl
Hag H hilel 3R Ieh Hal AH 3eh I Gl 13 @il R TIRau - 5x1=5

A. foeqa ST 3 SN 1 &1
B. TG HHGI-gdH

] 1 aiteE et

D. 3T STHILHT | e a7 <F

E. i e

FIZ:  [HAEIRGT F9 FacT FIRATIET qALTidar & 077 397 &1 30 F T T/
&/
(30.1) FARRT H fa&gd ATSA 3T HN & 1 A9 AR |
(30.2) %I § Tohdl Tesh YHE THgGI-I<H ohl ATH fIRgT |
(30.3) 3T AU H AT:TAAT TAHF] 1 Ig@ hifwiT |
(30.4) 3T MR H GH S o3 hIH-H1 8 ?
(30.5) HIH T ITHIEHT o fohel Teh frenifies &= o1 9W fafgu | 5x1=5
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Note :

30.

Note :

(=] 5 [=]
£

The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 29. Attempt any five questions :

(29.1)

(29.2)
(29.3)
(29.4)
(29.5)
(29.6)
(29.7)

Name the State having the lowest level of Human Development
Index (HDI).

Name the leading coffee producing State.

In what State are the Khetri copper mines located ?

In which State 1s Bhilai steel plant located ?

Name the Software Technology Park located in Telangana.
Name the western terminal station of East-West corridor.

Name the International Airport in Punjab. 1=

On the given political outline map of the World (on page 23), five

geographical features have been marked as @A), B), ©), (D and E).
Identity them with the help of the following information and write their

correct names on the lines drawn near them :

A.

B.
C.
D.
K.

OHx1=5

An area of extensive commercial grain farming
A major sea-port

The shipping canal

The largest country in North America

An 1industrial region

The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 30 :

(30.1)
(30.2)
(30.3)

(30.4)
(30.5)

LA Ui AP G DR R s P G AP O O Py
:
E
. N ]
LA R H G T P G D A GG ARG 1 G A T

Name an area of extensive commercial grain farming in Eurasia.
Name any major sea-port in Africa.

Mention an inland waterway in North America.

Which is the largest country in North America ?

Name any one industrial region of United States of America. 5xI=5
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For question no. 29
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For question no. 30
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